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FUFR list
BEFERNFS!
list1=[1,2]
list(strl)

list2=list1.copy()

list.append()
list1.extend(list2)
insert(index,object)
del+t15: del list1[x]
list1.pop(x)
list1.remove(S)
list1.clear()

del list1

x in list1

xy notin list1 iy
list1.sort()
list1.sort(reverse=Ture)
sorted(list1)
list1.reverse()
list1.count(x)
list1.index(x,start,stop)
list2=list1
list2=list1.copy()

import copy
list2=list1.deepcopy()

i for i in range(10)
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[list1[i]+list2[i]] for i in range(4)]

JoiH tuple
BFRYERIFSI B4R
tp1=(a’)

tuple(list1)

tp1[1:-2]
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pALEYSES =]
ENTER
ctrl+X
ctrl+C
ctrl+V
ctrl+Z
ctrl+enter

shift+enter

alt+enter
ctrl+shift+'-'
=FH dict S set
TFHRENNEAS TFNASESENRF

dict1={a"1,2:'b','c":3} set1={1,2,3,'a"}

dict(list1) set(tp1)

dict1=dict(a=1,b=2)
dict.fromkeys(['a’,'b'],9)
dict1['c']=2 set1.add('b")

dict1.setdefault('a’,3)

del dict1['a’]

dict1.pop(‘a’) set1.pop('a’)

dict1.popitem()  FBEHUM @ setl.pop() REHLAR

dict1.clear() set1.clear()

del dict1
'a' in dict1 1 in set1
'd' not in dict1 (2,3) not in set1 &EFfFE&E

dict1.get('a’)

dict1.keys()

dict1.values()

dict.items()

dict1.update(dict2)
set1 | set2
set1 & set?
set1- set2

(set1 | set2)-(set1 & set2)

set1==set2 oA
set1 is set2 | D#|



